Monday, December 4, 2017 12:10 PM

( (v (x¢2y) > . ﬁz'((m()«lﬂ)j‘ (,M()(f23).zj
‘eﬂ—> 9= j-— (3% ’
2

_ g - 29 lalaed)
ﬂ(-!—
_ Y <Xf2:7_ ZM(K*Z@ =

?S’('Zj ‘2 (n (Rﬂ'?y)
9*s

‘jj
29— 2x*2lu(r29) | | 2 __
Cszv)\j

- Z L"l(x-("Zg)
CXf?ij)\SB T g2 35

Fall 2017 MAC2233 MWF Page 1

—







op, _°p L/ T Ph
I ) e Al
Subs%(‘wL%Jﬁ
LT T~
(0O _ -
D\: 2000+ p.t2 25p,
_ _ P
D, = 1500 -

ob _ O+0O —25 <O

Dp.b
op= 0= f o ()= —p 3p ()

=
=P “('I><H“9) - (l+o> = Q—in\;—i - O

Fall 2017 MAC2233 MWF Page 3



/\/e«“ﬂ”‘

7.2/6

Fond i/ W\ﬁt)(/ saﬂfﬂ/& ‘p{‘

{=xy-$ *51*3 AR N

_ g
\2%:3—‘—?‘('[>Xll©—> D e

= (”( i = —_ -—/g-:
£y = x+g(Dg © —> [ x-Z=0
)
:z//
47 % N
=
- 7 ® <
4=32° 2 X2 =O
3
_ XN L
XU = )=

Fall 2017 MAC2233 MWF Page 4






